Grade 2: The commutative and associative property of addition

Task 1: Find the missing number

Appendix 5a

Number Value Number [Value
1 3 1 7

2 2

3 14 3 15

4 17

Answers: 11, 11

Number Value Number Value
1 2 1 5

2 4 2

3 3

4 3 4 20
5 10 5 25

Answers: 6, 10, 15

Task 2: Describe the principle in the model

Number [Value
7
12
17
22
27
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Answer: Unit digit repeats at each second step (7, 2, 7, 2, 7, ...), and ten digit adds 1 at each
step (0, 1, 1, 2, 2, ...) . It happens because the numbers increase by 5 each step, so after two
steps, they have increased by 10.

@ SEN Power project 2022-1-BG01-KA220-5CH-00085065 Funded by
n [PowER | the European Union



